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1.

TNPSC PERVIOUS QUESTIONS

TNPSC GROUP I PRELIMINARY EXAM 03.01.2021

UNIT-VI: INDIAN ECONOMY

Choose the correct statements related to “Black money”
a. These are assets not reported to the Government at the time of
generation
b. Estimate of black money in India for the year 1983-84 is 95% of
GDP
c. “Tax havens” are typically big countries which impose high tax
on foreigners who decide to settle down
a. (a) only b. (b) only c. (a) and (b) only
d. (b) and (c) only e. Answer not known
&L Uewld  OFHTLUTe  SpshaTamid Fa@Bufled  /  gmbBpiserien
gllwrereuiens Gty GEuIwLe|bD?
a. @by eumsWTT @bl 2o Lewselear o BuUSHSH uBB DP&sHHGS
$HH6U60 CBM(HHSLILIBHEISH 6066V
b. 1983 — 84 oub oeWigeDd, H(HUIL UenidhHer AT Teig, OTHs
o aMBTL(B o _@usHduilsd (GDP) 95% susib.
c. "auflgomBm UseILID”  eleiUemal  GQuTgieuTs  Quifiul  BTHHENTS

BBEHSLD. GLogyid Kty [0 GEA 8 GG 6TEUTQUDILD
OeueMBTL L 6uTHe 15g DHS auflFgienoenul el @ Lb.

a. (a) L@ b. (b) 1wt @i c. (a) wpmb (b) WL ED
d. (b) wBpId (c) WG e. alenL OafNweisdensy

Statement 1: A major issue highlighted by census 2011 is that there

are around 50 lakh less children in age group 0-6
years

in census 2011 than census 2001
Statement 2: Population growth rate between 2001 and 2011 is
lower

than the Population growth rate between 1991 and

2001
a. S1 and S2 are correct but S2 does not explain S1
b. S1is wrong; S2 is correct
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c. BothS1 and S2 are wrong
d. Both S1 and S2 are correct and S2 explains the S1

e. Answer not known

gamml 1: 0-6 auwgl GWhmdHHeler elenienlldamd 2001  HHTOHTNS
&H60015 6B (BLImL QUIIBLOGUITSI 2011 LDE & 61T OHTeND
B HOBBHLILNGD &HWOTT 50 6OLFID UM (GHOBhHEHIGToNH. BbH
o equiemlD (PHFHW LpFgemeuwinas 2011 wdHHeT  CFHTns
HHOBBHLILNGD &L 19SS L LILL (HeTTEerhSH

&mm  2: 2001 wBpd 2011 eiGHEHEHG — DewLulevmen
&HH6TOHTeNS  auenT&ddl  aiglb 1991  1oBmid 2001
DLI(BBHEHHE) BemL_uleomeot LD BHTOIHTENSH QUGTTF
AIBHHBHIL T QLUILIHHBUNED (FHEDBEUTERIH LGS LD.

a. gppl 1 B@b 2 Ff, Suemed s&mBp 2, Fpml 1-barer alendald

S|6V6V

&aBpl 1 Houml, FmMml 2 g

gaBpl 1 WBBID sBp 2 Qe Heupl

. GaBp 1 wBpw Spm 2 @y Ff, FBmI 2, FeBm  1-Somer

gflwmer allen&aid

e. alewL G fwaledenso

an o

3.  What are the facts related to defining GDP?

a. It is not for a specific period of time

b. It measures only goods and not services

c. It is a non monetary measure

a. (a) is correct (b) and (c) are wrong

b. (b) and (c) are correct (a) is wrong

c. (a), (b), (c) are wrong

d.(b) is correct (a) and (c) are wrong

e. Answer not known

OwrsHs 2 eprl@p o Busd (GDP) egriiurer sfwmer dgmpenp /
gppIsemen BCsiTey GFulweD

a. 91 T @UUILL &ML aumIWenBHG 2 MeHIHTIH DIGL6V

b. o “Ourmlser” OsrTLiuter T oemeiCLwng. “CFeneu”
OHTLITUTEISHI DIGV6V

C. OIF UewID FMITH SleTaiBHTEHLD

a. (a) &l (b) wBpb (c) Heuw)

b. (b) wimib (c) & (a) Heumi

c. (a), (b), (c) soum

d.(b) & (a) wim> () Houm

d. alen O flwelsvenev
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4.

5.

Consider the following statement

1. India introduced the family planning programme in 1950s

2. The family planning programme adopted Neo-Marxian
approach to birth control

3. End of National Emergency Ruled out compulsion in family

planning

4. Planning and implementation was carried by central
Government

Choose the correct answer

a. 2 and 3 only correct b. 1 and 3 only correct

c. 2 and 4 only correct d. 1 and 4 only correct

e. Answer not known

SIDHEWIL. FBBIBHMEN H(HHALD

1. 1950gb  gauibseied  @bsHu  GGLU  SLEUTLH  FLHog
SIflpsILGSSWS)

2. @by s GUUThH SHLomeidl UsHul — wWaTsHu Dl penmuller
SlgliLenL GFUILINILLL &)

3. Gpdlw  OBpmeBaY  (PRaSHG aUbdHaLeal  GBbU  SGUUTH
&S L TUWILDTESLILIL 6160606V

4. FL1OL6D LOBMILD CFWIeOLI(BHSHH6D DSH S SIJFTEV
GLoBO\smeiTenLILL L g

a. 2 wmwIb 3 w G Fi b. 1 wmpid 3 w G &

C. 2 wBmpid 4 B g d. 1 wBmpb 4 w @G &

d. alew Oz flwelsvenev

The following are the functions of Niti Aayog

Find out which is/are wrongly listed

I.  To foster cooperative federalism

II.  To give final approval to five year plans

III. To implement schemes for rural development
IV. To advice the State and Central Government on levying taxes
a.land II b. I, IT and III c.lIand IV
d. Only IV e. Answer not known

B&H Curdsler Lemidel HC OBTHEHBLILIL (HeiTerment
BFed a1gl/ elenel HUBTH CBTHSHBLILL (HeT6NH]

[. &LGBe slLT dedul aleTdHgHe0

II. mpaTawih HLESEHSS BUIF LD Si6lidHe0
III. eays euenTFdbaTer SHi L HHM6T DID6OLIBHSHHIH60
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IV. wsaHu  1oBpid  omple  QIssehdd aifl  aighed  OHTLTUTS
Siflajeny  aILPHIGSHe0

a.l wmmp II b. I, II wBmup III c. II wmmp IV

d. IV ol (b e. alenL OHfuialedenso

6. According to the evaluation report of Niti Ayog related to

Minimum Support Price (MSP), which of the following statement

(s) is/are correct?

(@) MSP is declared before the sowing season.

(b) The idea behind MSP is to give guaranteed prices to the
farmers and save them from price fluctuations.

(c) With globalization resulting in free trade in agricultural
commodities, it is not important to protect the farmers from
the unwarranted fluctuations in prices.

a. (a), (c) only b. (a), (b) only c. (b) only

d. (c) only e. Answer not known

B Bunsdler  GmmbsULF HTe| elwev (MSP) Ggmiitume

LHIIG  ombamduler L SPBTEDID  6hH - FnBml/ FnBBIB6i

gilwrengl/ sflwireienal Oy@HLb?

(@) “GopbasuLd oiHTe| alme”  almslils STSHBGSG (PG
SIS SLILIBLD.

(b) “Gopbsuls ousHTe almed” uldar Chresd alaugTulseEnss
alleney 2 SHHTUTHID DIeMUILFH DLESLD.

() 2 _susLWITSESe T gBUL BTN SEIEG SMLWMBB  6UTdHSHHHD 60
alemeneund alleugmul GuT(heTseTe allemeoulsd gBuUBL CHemeuwmms
gmm OmHsmBeiled BHbHH aleusTulldamen STULG (LPoHSHUILDEVV.

a. (a), (¢) wL_(pw b. (a), (b) wL @B C. (b) LOL_(HLD
d. (©) ' @Bw e. alewL GxfNwalsvensv

7. Consider the following statement.
The objectives of fiscal policy are
1. Capital formation
2. Equitable distribution
3. Unemployment
4. Regional Balance
From these, which are correct statement?
a.2,3and 4 b.1,2and 4 c.1,3and 4
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d.1,2and 3 e. Answer not known

LNeTeU(HLD SnMens  HeeoT

boHd OaTeTamaule GCBhTohaEmISeNTe6.

1. cpeLSHET 2 (HeUTEHSHLD

2. FIDIOTE LISITE)

3. GeuemeveumuiliLilerenio

4. FOLLMT eUeTFS

Beummiel, elemeu FHlwime FnBmi?

a. 2, 3 BB 4 b. 1, 2 By 4 c.1, 3 wBBID 4
d.1, 2 wBpid 3 e. alewL Ggfwealsdensv

8. Consider the following statement.
The objective factors for determinants of consumption function
are.
1. Motive of precaution
2. Motive of liquidity
3. Motive of avarice
4. Laissez-faire policy
a.3and 4 b.1,2and 3 c.1,2and 4

d.1and 4 e. Answer not known

LNeiTeU(HLD FnBenB &H6M6DT.

BIBTeY FMTeDL SHTWI(HSHGM DIBAIL DLEU6HT BT 6001 & 6TTTEU6T

1. eiGengshodame GCphTohald

2. BTewo GHeitewld CprdhasLd

3. Gugmens GprHsd

4. meoulLTd OHTeTenSH

GevsTamid Fm@BBIBeisy ghwmaieuBens GHiTey GFuiweD

a. 3 wBpd 4 b.1, 2 woBmid 3 c. 1, 2 oBmub 4

d. 1 wBpw 4 e. alewL O fuwealsvensv

9. Which is not related to direct tax Revenues of the central
government?
a. Taxes on Income
b. Taxes on property and capital transaction
c. Taxes on commodities and services
d. Taxes on dividends and profits
e. Answer not known
wHHW SFer Crry aumeuTuiaidHdled GHTLTL E60e0THH 61517
a. aumLomer eurfl
b. QrHzs1 WBEBID wpeuHer el
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C. LUewiL& LOBE@ID Uewll eurfl
d. uBsTsTW BBID Georu eurfl
e. alewL OFHflwailevenen

10. The first blue print for Indian planning came from an engineer

administrator
a. M. Visvesvaraya b. Nehru c. S.N. Agarwal
d. M.N. Roy e. Answer not known

OhHwraler HiLIOL eSHHTEr UMTLLBIGH6T (LpHeV60 6lhd Gummlwmernt
BiTeuraslulL O(HHSHI  eUbSHeoT

a. M. aleroGeuerdeuruim b. Gmrwm c. S.N. oisiteumed
d. M.N gmu e. alewL GxfNwalsvenev

11.  Which are the correct statement(s) related to “T-Billl” Treasury bill?
(@) They are issued by RBL
(b) They are issued by Government of India.
(c) Treasury bills pay no interest.
(d) These are long term debt instruments.
a. (a) and (d) only b. (b) and (c) only c. (b), (c) and (d)
d. (b) and (d) only e. Answer not known
SHPHTEID  FnBBIH6I60 “T-Bill"  (Treasury bill) Ggriumer
gflwneteumens s iTey OFuIwe|D
(@) oweu @hHw Maier eumdSwred GQouefluiL LG T
(b) omeu WHHW SiFsTEL GeueMuiL LILIBES ST36.
(c) SwuBBle W eully FLL SUieoTg)
(d) omeu CBEHIBTEL SHLT LHHIEIS6ET &L
a. (@) wmmib (d) " Gb b. (b) wBmId () wL G
c. (b), (¢) wBmid (d) d. (b) wmmd (d) Wi G
e. allewL  Oxflwalsvensv

12.  To reduce the investment and the Incremental capital output ratio
the following approaches are to be accomplished.
I. Static efficiency
I1. Allocative efficiency
III. Technical efficiency
a. I, III, IV only b. L, II, Il only c. L, I, IV only

d. II, III, IV only e. Answer not known
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Q0h (WPHH WLBBID FHBMNHGD cpevHer Oeualuil B oS HHMHH
GmBHS, Leiel(hld DiemIG(pemnBaEeT HlenpGeaummmrie. GeauewiBLd

[. Heweowimesr GFWIEOSHB6IT

II. wrwIb QFwIeLSH D6

III. @a165H GFuwedHme

IV. Gampevmi L GFuwe0dmesr

a. [, I, IV o G b. I II, I o (i

c. LI, IV @b d. IT, IIL, IV (b

e. alenL  OFMwealedenev

13. Assertion (A) : Access to Primary Health centres helps

identification,
care and Prevention of communicable disease in rural
communities.

Reason (R) : More optimum utilization of rural health

infrastructure is expected to yield expected results.
a. Both (A) and (R) are true and (R) is the correct explanation of
(A)
b. Both (A) and (R) are true but (R) is not the correct explanation of
(A)
c. (A) is true but (R) is false
d. (A) is false but (R) is true
e. Answer not known
® BFLE FmBed (2_): HITD SHH6T SSHTHT] MOWIHIBEN6N 6161NHTH
DIEI(GHLD Gungl SIS H61TemL G CxTmmI
GrTUISemeT  DIWHLWITEID ST,  H6UTHHALD,
HBBBaID 2_56|BIBS!.
SMJ60ID (&HIT) D Sgmolyp  S&STHTY 2 6TSL Lenolilel o &b
LweTUT(®  6THTCHTHGID LIe0m6uTSHSH(HLD.
a. (20), (®m) @yewiBd gf, @HBIL6T (HT) 6IQIUBH (2 )-aler
Fiwmerl allemdh LD
b. (2), (&1 @peuid &f, GHsILer (B1) LB (2_) el
FRwmel aleméhdlD 606V
Cc. (20) gfl gemed (HM) Houml
d. (2.) saum Semed (&T) i
e. allewL  Oxflwalsvensv

current affairs
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14. What are the recent trends in the global economy which has led to
RBI ‘sell buy” swap of USD/INR?
a. Financial markets worldwide facing intense selling pressures
due to the spread of COVID-19 infections
b. Slump in International crude prices
c. Emerging market currencies experiencing upward pressure
a. (a) only b. (b) and (c) only c. (a) and (b) only
d. (c) only e. Answer not know
2 & OuTmeMTaTISHar gl Curd@GHselled emeu @boHul Mael
aumduler (RBI) oGwfids LmeoT - @bHw apumll ‘alBELb-eummsigd’
LMOTBBHmS CFWOLGSHSH STTEMIOTS DIENLOHSIGTeNSHI?
a. Gamall-19 CQuEHOSTHBBTEL 2 60FHeMaled [HFH FhHenHHeT FhHH
QB elBumer GFHTLTUTET SHalJ DILPSHSLD
b. 2 s Fpmsuled &FFT eamiOemul aleney Fia]
C. aUeNThb&l  euU(HD  Fhowddelar  bHrewow!  WWHLY  CoeOGHTeHaIu
ARHSHDS FHHIILZI
a.(a) L @w b. (b) @b () WL BLD
c. (a) wBpd (b) WG d. (c) w @w
e. alemL OFiwalevensv

15. Identify the sector(s) of Indian Economy which are the most
affected by Covid Pandemic -
(@) MSME sector
(b) Aviation sector
(c) Tourism and Hospitality sector
(d) Telecommunication sector
a. (a) and (d) only b. (a), (b) and (c) c. (d) only
d. (a), (c) only e. Answer not known
@b CUITHEMTSHTT SHH60, Gamall OLIHHOSTHBBTED L& 6YLD
Gomgionsa b LUTSHSHSLIUL L SHeHMB(H6T) —
(@) A wppw BESSI Osmisosd (MSME)

(b) elwrer CuTsEGHaTsHsI

(c) smpeor wBBID lHHGHTLLED CHTLTUTE CFHTIHsH6T
(d) Gsremev QHTLTLEG Hlens

a.(a) wmmib (a) WL B b. (a), (b) wBmIbd (C)

c. (d) w @b d. (@), (c) w @B
e. allewL  Oxflwalsvensv
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16.  Which of the following states has shown the declining trend in the
(GST) Goods and Service Tax for the year 2019-2020?
a. Uttar Pradesh, Rajasthan and Assam
b. Haryana, Rajasthan and Mehalaya
c. Andhra Pradesh, Mathya Pradesh and Manipur
d. Maharastra, West Bengal and Tamil Nadu
e. Answer not known
2019202010  syemigent Bgemeu MWD FFHG aufl  UGEHIL (GHMBHS
B Curd@ STeTlILGBLD LOTHIEORIGET WITeney?
a.2 551 UgGxhab, JTeger0SHTEN WBMILD HIFTLD
b. amflwimert, gmegerdgTesT BEID GodmevTuiT
c. by Ug6sabd, wHHW LITCHaD MBI LO6wIILILT
d. weamryras gr, GuBE RIS WLWHBEBID SODHTH
e. allewL Oz flwalsvensv

17.  According to Nobel Laureate Abhijit Banerjee (Economist), what is
the only solution to overcome the economic pain in the short run in
the wake of Covid-induced economic crisis?

a. Putting more money in the hands of big corporates

b. Giving more tax cuts for big corporates

c. Putting more money in the hands of poor

d. Giving more tax cuts to the poor

e. Answer not known

Gpmued uflgd  Oums  GurmettsTy  SPehT oUlxlge  Cuentaguler
SaBmILILIg, Gamall QU(BHOSHTBMTED QUIT(HENTSTY OIB(HBHHIQ
gBULBeitengl. Bbhd OCBHSSQUITEO gBUL(BeTen  QUTHTHTT  euellenul
GUIFW &ML  SglimLulled SLLULUSHBSTON  SHTOUTS DeUT  Fapleug
wmg?

a. Qum mHpleueThIGeTle mBHeMed DIFHS Uewild GdTewiB CFTlIug)
b. Qum BpeuambiseEhds@ il Gmply CFUlaE

C. gelp elaMul DSBS mBHelled OIFHH Uewild GsTewi(h CFTlILg)
d. gemp etell HHEHHEG aflGmmrily CFuiaig

e. alewL G Mwaledenso

18. Regarding the Indian economy, which of the following reflect,
unprecedented suspension of economic activity in the first quarter
of this fiscal (April-June) due to the COVID pandemic?

(a) Contraction of around 50.3% in the construction sector
(b) Contraction of around 39.3% in the manufacturing sector
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(c) Contraction of around 10% in the agri, forestry and fishing

sector
(d) Contraction of around 5% in the Trade, hotels, transport sector
a. (a) and (b) only b. (a) and (c) only
c. (b) and (c) only d. (b) and (d) only

e. Answer not known

BhHw  QUTHMTHTIHMS OUTBIHS 6uemy, GCasmall  CUHHOSHTBMTED

BObhH HHWTEWIQET (LpHe0 HT60 LIGHUled (gUged - 99261 GUIT(HEMTHT]Y

BLAIYHMBH6IM60 (LPeiTL] 6TLICUTEHID Be0evTH GILIHLD (PLESD GMUL L G).

SPHTEID SnBBIH6TNe0 cTener @Hs o euienoenu! Li&lLeddalenmsen?

(@) oL@l ueiseied &wmm 50.3% &iHeaLD

(b) 2 Busdk siempuied awTT 39.3% &i(HBSWD

(c) Geuenmemwiento, euadailLied LOBBILD Leitauen o BLIGSHUNeD &LomT 10 %
F(HSHBLD

(d) afsssb, sSEEL aIGH/ o _mausd wLEB CUTHEGMTSHI
BIMBHETN60 HIOMT 5% HF(HDBBLID.

a. (a) wmpid (b) i G b. (@) wBmid (c) 1w BHb

c. (b) wBEId (C) W G d. (b) wBmw (d) W ED

e. allemL  Oxflwaledensv

19. Choose the correct statement related to recent Bank mergers in
India.
(a) Large Banks will be able to borrow more from the market and
thereby help the economy revive.
(b) Bank merger will lead to increased operational efficiency of

the banking sector
a. (a) only b. (b) only c. (@) and (b)

d. neither (a) nor (b)  e. Answer not known

@bgHwmaled  FlU  STeVESeTNEL  HOLOUDID  umd  EenewiliL

OEHTLTUTET FnBBIBeiey Fllwmeiensd GsiTey GFUIWIOLD.

(@) OQuiw em&ser Fhamsuleddbal SIS BT ST UTHIGLD SH6
O FBTEmIL_6NEUUITS B\(HBGLD 61601LIBHT60 QUT(HEMTSHTILD
LSO B sLILBLD.

(b) eaumd QenewiliL], aumdd SHiewpuier QFLIOSHBMeT 2 WITHSHILD.

a.(a) wl@w b. (b) L G c. (@) wmmib (b)

c. (@) @evemev (b) Bevemev e. alewL G fMwalsvenev
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CHENNAI

ASSISTANT AGRICULTURAL OFFICER
(17.04.2021)

1. When was the National Early Childhood Care and Education
(NECCE) Policy

a. 2013 b. 2017 c. 2018 d. 2019 e. Answer not known
Cxrdlw LFHTMIGLHMSHH6T UTHISTIL LOBBID HELAISHHIL L LD  6T6l6euT6u0l(H
OHTLmISILIL L GI?

a. 2013 b. 2017 c. 2018 d. 2019 e. alenL  Gafuwalsvensv

2. What is the term used to denote the coexistence of two different
features in an economy?
a. Technology b. Dependency
c. Dualism d. Inequality
e. Answer not known
@rewiy  wpBiled  CeaupiL  Heitemgdenen  GHTLTLLUGSHHS  GSBILLG
aTeleuTml MU LILGaIBg?
a. [’ LD b. amiba mriL|
C. BILMLSH HTMLD d. gwiferentp
e. alemL  OFflwialsoensv.

3. Assertion (A): = Productivity of land in India is low.
Reason (R): Small farmers are not motivated to produce more.
a. (A)istrue (R) is false
b. Both (A) and (R) are true, and (R) is the correct explanation of
(A)
c. (A)isfalse (R) is true
d. Both (A) and (R) are true but (R) is not the correct explanation of
(A)
e. Answer not known
By (A): @bHwmalsd HeodHear 2 BUSHS HWET GHMBAUTS 2 _6ITeTg).
amyewid  (R): Fmp  efeugmuiser oiFs o BusHH OCFuw  oam&GHealliL
©606m6V.
a. (A) sfl spemed (R) seuml
b. (A) wspw (R) Sremewn f, Cwaibd (R) eeawa (A) — «aBe
gilwmen aleTsaLd
c. (A) saup spemmed (R) &l
d. (A wspw (R) @yenGew s&f, ewemed (R) eaws (A)-albe
gilwmer allem& L0606V
e. alowL OxMwalsensy
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4. Liberalization providing freedom to
a. Private Sector b. Industrial Sector
c. International trade d. Agriculture Sector
e. Answer not known
SHTTTETOWIOTEHHE0 FHHATLD GULDHIGHIS
a. Wt HlenBshG b. Gamfled FHiMBDHS
C. U (B euenishIHBE d. Gauenmet HIMBES
e. alemL G flwalevensv

5. Population increasing rate in the year 1951 decreases from 1.33% to
1.25% so this year is called as
a. Year of decreasing b. Year of shortage
c. Year of small divide d. Year of backward
e. Answer not known
1951-gib  SyemTged  10SE6T  CFHTend OumEBs aldlsd 1.33%  mbal
1.25% ETE: GDOBHBHH 160186 Bh SL60T1(H Beleurml
SIMIPSHBLILIGH MBS
a. gfley <61l b. @ome; oG c. Ap Vemey Suewi®
d. VesisREwL G e alwl OFMuwaledemev

6. The concept of economic planning in India Fiver Year Plan is derived

from
a. America b. England c. Russia (then USSR)
d. France e. Answer not known

BbhFHwmaled WbSHTen(Hd S L_BIg6I eUTULI6OT LI QUT(HENTSHTY
S L ewev GoBeETeTEnld (Lpedm MBS (HHSHI HHATSBLILL L )7

a. |6wNéasT b. @nideonhbal

c. whmzsw Gxralwg yaswmr (USSR) d. ymesrerd

e. alewL Oz flwealsdenso

7. Choose the incorrect statement:
I A Kisan credit card is aimed to have quick and affordable credit to
farmers.
I Agricultural Produce Market Committee is a non-statutory body
III To promote agricultural activities is the function of APMC
IV APMC provides market led extension services to farmer
a.land II b. Il and IV c. IV only d. IT only
e. Answer not known
CUITHSHSLOMB  SnmBslenen eIl 1.
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I o 1peu &BL_60T DI emL_ alleugmul s emd@, llenJeaUTH|LD
HHDHHCHMUAD SHL T GUDRIGD GFHUTLMEGLD

II efeusmui QUIT(THL_ 55 (6THEBBITGOT SIBIBTIY G (LD (APMC) Q@
FLUL_LILLTAILDTET SI6WIOLIL] £I606V

III Gouenmewst BLaUgHmBHmen 2aHGHallIlg APMC — &1 uswilwm@id

IV APMC gpeng g1ibg alfleunss Coemeusamen aIpmIGHS Bl

a. [ wmpp 11 b. II wpmpd IV

c. IV ol _(ib d. Il w @G

e. allewl  OFflwealedensv

AGRICULTURE & HORTICULTURE (18.04.2021)

The Credit Authorisation Scheme introduced by

a. International Monetary Fund b. Reserve Bank of India
c. Commercial Bank d. Exim Bank

e. Answer not known

SL DRSHT HLLHMS BPSLILGSHSHWSH 61517

a. ueSTeuIml_ (5 Leorhlgs Hlmieentid b. @b MaTen eumid)

C. ouenlla GuUmIE d. erdeniib eumig)

e. alemL OFHfwaledensy

Consider the following statement:

1. India buys Eighth position in terms of nominal Gross Domestic
product among the world economy

2. India buys third in terms of purchasing power parity among the
world economy

3. UGANDA is included in G-20

4. Highest internet users in the world is China as per 2017 statement

Among these, which of the statements are correct?

a. (1) and (2) only b. (2) and (3) only c. 2 and @)

only d. (4) only e. Answer not known

Lareupd gnienm &eue:

1. 2 &l QUImHMTHTTSHHL OCTdhsd 2 BT 2 BushHuled 61 LTeug)
B Hmy BhHwT CLBEmI6TENSI.

2. 2 &l QUImHTHTIHH60 UTRIGLD FhHuled SHBAHWT  CLPSIBITLD
BLHMS OLBBIeTENSI.

3. o2 smewiLm, L-20 60 GaFiTdbalILL (HelTerngl.

4. 2017-00 &HewIBOBBHLLINALIY 2 05HHCCW FalT IHS  EenemTuiFHern
Bremeu LIWLIGTH6T OHT6uT([H6TENGI.

GuBev HewiLeuBmIeT elemeu Filuimenr FnBmIHe6i

a. 1 owBpd 2 " Gid b. 2 iopmid 3 1wl @G
c. 2 wBmid 4 w’ G d. 4 @B
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e. alewL OFMwalsdensy

3. The measures of tenancy reforms pertain to
1. Regulation of rent
2. Security of tenure
3. Ownership rights for tenants
4. Ceilings on land holdings
a. (2) and (3) only b. (1) and (2) only c. (2), (3) and (4) only
d. (1), (2) and (3) only  e. Answer not known
GHHDHMD FTHH(HSHHMIH6N 60 GBS TeTemLILL L [bL_GUIQ 60 B GTHL_ 63T
OSHTLTL6nL Wien6
UTLem&d &HL_(HLum(h
GDHDHMBHTL LITHIBMLIL

GHDHMBBMITHeI6 o flenosmelt
. [Hlev 2 _emLenD 2 FF6UJLDL]

. (2) wpmid (3) LG b. (1) wGw (2) o Gid
(2), (3) woer (4) L BLO d. (1), (2) wbmib (3) L Bib
. alewL  OFflwalsvensy

® 0P AN

4. The measures of tenancy reforms pertain to
1. Regulation of rent
2. Security of tenure
3. Ownership rights for tenants
4. Ceilings on land holdings
a. (2) and (3) only b. (1) and (2) only c. (2), (3) and (4) only
d. (1), (2) and (3) only  e. Answer not known
GHDHMSB &P (HHHMIS6N 60 GoBosmeiTemiiLL L [bL_6UIQ E560) 8 GTHL_ 63T
OHTLTL DL Wienal
1. oumTLem& &L_(HUum(h
2. BHHHMBHTL LITHIBMLIL
3. GHIHMOBIMITH © _MenLDSH6N
4. Blov 2 MLeMD 2 FFUJLDL
a. (2) wbpid (3) L B b. (1) w G (2) i Gid
c. (2), (3) w@er (4) o (Bid d. (1), (2) wmmid (3) L B

e. allewL  OFflwalsvensy

5. Consider the following statements related to the Growth of population
in underdeveloped nations:
1. Low savings due to high level consumption expenditure
2. It destroys the natural resources
3. It stimulate greater productivity and savings
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Select the correct answers by using the codes:

a.lonly b.2only c¢.1and2 d.2and 3 e. Answer not known
eipmiswl  BTBHeMe0 STeoliUBD  WdHH6eT  OFHTensl  CUmHBSHD GBNSHD
BHHHBHIHEMENT HAUMTIHHL CBT6ITena|LD

l. 9198 HSTF OFeveutsd CFlOlL @GHBSBSHI.

2. BuBems eueMmiseT DIPHeH CuTGL SenalBEg UWRTLBGSSLILIGS B

3. 91985 2 BuUSHHSH FHmer wBmID CFillienu 2a&HGHalbSB).

GBuibhasemenl LWSLGSHSH Fllwmer allenL  SHTewr.

a. 1 wl (B b. 2 wlBw c. 1 Bmb 3

d. 2 wmmib 3 e. alewL Gxfuwalseneo

6. The programme which was launched in 2005-06, to provide basic
amenities and infrastructure to rural India is called as :
a. Pradhan Mantri Gram Sadak Yojana
b. Bharat Nirman and Rural Housing
c. National Rural Livelihood Mission
d. National Rural Health Mission
e. Answer not known
2005 - 2006 b Syemnged GBHTLMBISLILLL, SITIB SbHuUTe|HE DglILIENL
AUFHFHET  IDBBID 2 6MHL LMD  QUPHIGUSMBHTT — SHU LD 6l6u
DIMPSHBLILIBIGI
a. Upswfler SHgmo Fmenevsd S L Lb
b. ®bHw &L GoTend wBpId Smois aiGser
Cc. Gxpdlw Sgmoliys eumDeuTSHTILI  Licwol
d. Cadlw dymoliym S&STHTU Liewd
e. alemL OFHfuwalevensv

7. Purpose of Agricultural Producers Co-operative marketing society is
1. Sale of agricultural products at higher price
2. Produce pledge loan for agriculturalist’'s maximum amount of loan
3. To create comfortable market zone
4. To preserve the goods
a. 1 correct b. 1, 2 correct c.1, 2, 3 correct

d. 3, 4 correct e. Answer not known

aleugmuw o pusbdHuwiment L (Bme] alBLmeT HPHHH 6 CHTHELD

1. aleusm o BusHEH Oguls OuTmHLsmer DHS alwevdE albLener
QauIeug

2 BuHHUleT GUT(HL BTN DISHBLIQUITET SHL 6T GULDHIEGHED

3. Qaenasfwirer alBLemeTr FhendHemul OFUIHeD

4. OB GCuUTHTIDD GILIT(HETHEM6T HTLILIGI.
a
C

N

.1 wi@n g b.1,2 w @G &f
.1,2,3 w @G &f d.3,4 w' Gw &M
e. alewL OFMwalsdensy
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8. Which of the following is wrongly matched?

a. Swachh Bharat Abhiyan - Urban and rural areas
b. Amrut Scheme - Municipal corporation
c. NEEDS - Micro, small and medium enterprises

d. Pradhan Mantri Fasal Bima Yojana - Environment

e. Answer not known
LTevTa(HeTeUBMIGT 618 HUBTH SenemntwllILIL (HeiTeng)?

a. eoeuF Mg Silwimest - BSTIYB LOBBID  SIFTOLILBEISENT
b. oubmsd HLib - BEITLSF  [BBIGUGTRIGEIT
c. NEEDS (1 6m) - o, Fp wBBID BOHHHTH CHTIHe0H6N

d. Mysmer whHA uFed Liom CMTeIT — SHBBIGHLO6
e. alewL  OFflwalsensv
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